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XX .22 - 3H .G - ARAMY - HES HECXENH A=H Hws2

THHOIEALY S X2 21,100,000 23,650,000 2,550,000

307 D12+l 0 150,000 150,000

02 LIRIAABX 0 150,000 150,000
EAIGIZME] AFIXI 150,000

401 AlAH|L S0 6,100,000 9,500,000 3,400,000

01 Al&H] 6,100,000 9,500,000 3,400,000
-2 THARY =R 2,000.000
A & 2322 X 7,500,000

403 THXISHRISKH=0|A 15,000,000 14,000,000 1,000,000

01 KRS =EEX 15,000,000 14,000,000 1,000,000
THLHOlI2EANIH| RI 12,000,000
sz=74 X 2,000,000

THPSS (TRt Er e 11,427,713 19,049,126 7,621,413

SEIE(HH22012) 6,427,713 10,049,126 3,621,413

=PSNES 6,427,713 10,049,126 3,621,413

602 OIXI= 6,427,713 10,049,126 3,621,413

01 ox|= 6,427,713 10,049, 126 3,621,413
10,049,126




XX .22 HHM .. U2 - HRAIY - BAS HEACX=H JNEL HlunsZ
LHE Hel KIS (2201 2) 5,000,000 9,000,000 4,000,000
UWEHHXI & 5,000,000 9,000,000 4,000,000
704 CllE&E= 5,000,000 9,000,000 4,000,000
01 ole=2 5,000,000 9,000,000 4,000,000
oEr2 9,000,000
A & g A 32,698,993 42,794,356 10,095,363




